Fk28410A9H xR [Ksy)

FNRERABTXREK7—FV—HEE HBEBEF REMBSEHAEE LR
RBESOURHEAEDHOER RSOV RE A REB-ZR BT SCEREETH A 1305299
215 R TE Bk
S 2 . e | Fep— e e . T TR a—bA7 "
”IE{SLL %BJEH?I;% 1/4 EI*H# I*H# —I* E’J%-‘? %Bﬁ}ﬁlﬂ? E%% JIE{ELL 1 2 3 4 7|_\o/r>|\ mm H#Iﬂ‘k
MENNE | HEHE ER.KF —1E.KE & 4 |[55[49]53]52 6 [
2 HBER | Bl BEALWLK Mt 2K #X 3 |51]|50(49]51 2
6 et
v | ke 31 R TE B
- | e—— ; i i Ya—hA7 .
(1) MBS | #REFFE EF4Z &R [T 21 3l ahRAor — R B
9 LER Fih &, A@ H.AH &F 1 5552|5753 6 [
2 B ER A =.ER B, k% B2 2 |50(|53|56|50 2
D) re ot Do
AE TR IR
— i . & (I Sa—kAD .
8 e @ HES | #ERR 2T [[EX v 1l 2| 3| 4|RA4>k mm B
B . 1 LBE | % 8. =M@ 5. 00 B& 1 |53|56|54|54| 2
2 #HENE | BE R, KF —1E.KE 5 4 |54(58]52]56 6 i
6 3 HBER | B BEA.LK Ht. 2K #X 3 |52(55]52 6 [
4 B AR A =.ER B, iEE B2 2 |50]51]51 0
(1
12 Bk
s 78 5 S a—
0 mES | mape 2E4 s FR | AT | e
5 =R v 1| 2| 3| 4| RA>k mm
@ 1 LER FHih &, A@ H.AHE &F 1 53| 56| 57 6 [
2 EFE |ERAK BGE.EZH S, A% XL 8 |47|51]49 0
@ 3 126 R AIE &, 5E KiE. EZF A 5 |53]53(50 0
4 HENE | BE R, KF —1E.KE 5 4 |[57(54]|55 6 i
6 5 HBER | B BEA.LKR Ht 2K X 3 |53]|54]51 6 B
6 FHRE | XAR BCU)IA FE.HB Rkt 6 |42]52]43 0
» 7 MILUE | IE KEE GEH BE.FN BEA 7 | 48| 49|51 0
P P 8 BRI ME 5T,.ER BN, EE B2 2 |52|52]52 6 i
6 = o
R E L
: 51 | s s : FESIUF REBTIUF
B | e | ERR il T | @m | 5B | ERB R ERRE
B 1 I HiE £E/l.KXKHF —E.KE & 4 1889 |6 (57.54550)| 6 (54,58.52,56) 6 (55,49,53,52)
2 HEE Bl EA.ILUAR ¥t 2K HX 3 1915 |6 535451.0)6 (525552,0) 2 (51,50,49,51)
6 3 LEE ath F#t. 508 H.AHE KE 1 1938 |6 (535657.0)|2 (53565459 6 (55,52,57,53)
3 2 18 4 BRAR HHE = .EA Rt EE B2 2 1916 |6 G252520)| 0 50,51.51,0] 2 50535650
e . 5 | fBER | Al B GH AWM. EE @ | 5 | 1879 [owmmo
6 FIVLE | LUE FEE EH £FE.FNR EA 7 1859 [ows4ss100
6 7 AEFE |{ERK HE. = E9. A8 XL 8 1855 [owr51400)
8 EHE | KAR KU )IE FE,HEA Kkt 6 1871 |ow2s2a30
@ 9 THE | bk Eik. Rk hME.IRE K— 9 1835
10 KB XHF HE.EZF E.XF BX 10 1819
) 11 REFE BE #.RE RFE.KH BE 11 1815
6 — 12 ZIRE | A #FE.=ZB HH)IBE EFE 12 | 1799
R AR 0 13 | dtimE (75 ZE.NEE B—. A7) wmE| 13 | 1787
14 LB | S8 Kb, E+E Kb, #2@ BEtH| 14 | 1686
(2
2
0
7 IR
)
(4)
0
(8)
2 B ER
6
6
LEE
(1 =
(2) 72
i
2




